| 15 | 14 | 13 | 12 | 11 | 10 | 9 i 8 | Z | 6 | 2 | 4 | 3 | 2 | 1

REVISION HISTORY

REV DESCRIPTION DATE AUTHOR

Changing shock absorbers | 05.09.2017 |MM

O|®

Changing shock absorbers | 02/12/2021 (MM

Position of the front Position of the rear
shock absorber shock absorber

lCNDEE! FD:gcq
Rear hole Middle hole

"’ i\ N
R\

7 _#8 =—1 &

== T2 N\

B(1:2)
Use the middle and rear hole in the top frame
One set:
Front shock absorber 1 Bt M12465 Rear schock absorber
2x Washers @12
1x Nut M12
eeeeeeeee MM | 05.00.2017 | N/A 2 person )
. - Super Pulk 2 seat
Hengereln
!n!,!,o‘,dm,[m Winter products
EEEENK IN102445 B

I 15 I 14 I 13 I 12 I 11 I 10 I 9 ZF 8 I / I 6 I S I 4 I 3 I 2 I 1




Assembly Super Pulk 2 seat 4 shocks (Normal)
K Left side f A & <

Rear Left/Front Right

T
(=
m—
=
(=TT

Rear left/Front Right

Rear Left/Front Right Rear right/Front Left

Front Left/Rear Right

Profile 40x25x1.5

Profile 25x25x1,5
Bolt M10x40

Washer M10x30x2.5

E Rubber washer IN105930

F
Washer M10
Lock nut M10
E
B0t M19x100 Spacers SET Art. Nr :13830
g ‘ A & —
Bolt M12x85 A
‘ A 2X @12
D
B
C

— C 31

C B ZX (b’)f’ 2'12

- 37

2’3\9
C 2x ¢»

B

. Drive direction Drive direction
F RO N T F RO N T eeeeeeeee MM | 08/10/2018 | A T A0 “1a 7272
Henacren h Complete frame assembly
A !'w.e'!mﬁ‘glﬁ Winter products
EEEEONK IN102445 A
16 | 15 | 12 | 13 | i) | T | 10 | 9 4& 3 | 7 | 5 | 5 | 7 | 3 | 7 | T




	BK-Montering-4-blaa-dempere.pdf
	BK-Montering-4-blaa-dempere-posisjon.pdf

